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 (Question): Which Process can be both time consuming and expensive as a 

result, management will expect tangible benefits to be achieved by the process? 

 

(A): Business Continuity Planning 

(B): Business Contingency Planning 

(C): Business Ethical Planning 

(D): Business Process Planning 

 

(Correct): A 

 

 

(Question): Which system in place enables you to balance risk and 

entrepreneurial energy with appropriate internal control procedures to manage 

that risk? 

 

(A): Quality Management System 

(B): Corporate Governance 

(C): Auditing Report 

(D): Banking System 

 

(Correct): B 
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(Question): When should the Business Continuity Planning be reviewed? 

 

(A): Whenever encountering a disaster 

(B): At least annually or whenever significant changes occur  

(C): Whenever the company gets audited 

(D): Whenever the legal department declares it is time 

 

(Correct): B 

 

(Question): There are several reasons why a company would develop and 

implement a business continuity plan. Which of the following properly describes 

the best reason? 

 

(A): To increase liability 

(B): The continuation of a company  

(C): Compliancy with regulations 

(D): Properly react to disasters 

 

(Correct): B 

 

 (Question): Damage assessment includes all but which of the following steps? 

(A): Identifying the affected business functions. 

(B): Estimate the time it will take to restore critical business functions. 

(C): Having the insurance company declare the total extent of the damages.  

(D): Evaluating the time to restore operations and if greater than the MTD, a 

disaster should be declared and BCP enacted. 

 

(Correct): C 

 

 


